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<?xml version="1.0" encoding="hig5"?>

<l-- (timeAuthority) XML DTD 2000/06/06 -->

<IDOCTY PE timeAuthority[

<I--OELEMENT ( +) -->

<IELEMENT timeAuthority (record-list+)>

<I--1ELEMENT « *, , 2 : % : *)-->

<IELEMENT record-list (dynasty, period*, emperor, yearName?, cY ear, cycle?, wY ear, century* )-->

<l--2 ELEMENT (#PCDATA) >
<IELEMENT dynasty (#PCDATA) >

<l--2 ELEMENT (#PCDATA) -->
<IELEMENT period (#PCDATA) >

<I--2 ELEMENT (#PCDATA) -->
<IELEMENT emperor (#PCDATA) >

<I--2 ELEMENT (#PCDATA) -->
<IELEMENT yearName (#PCDATA) >

<1--2 ELEMENT (#PCDATA) >
<IELEMENT cYear (#PCDATA) >

<1--2 ELEMENT (#PCDATA) >
<IELEMENT cycle (#PCDATA) >

<I--2ELEMENT (#PCDATA) -->
<IELEMENT wY ear (#PCDATA) >

<1--2 ELEMENT (#PCDATA) >
<IELEMENT century (#PCDATA) >

<l-- End of (timeAuthority) XML DTD -->
1>




